
 

 

1) Draw an equilateral triangle with sides of 6 cm. 

Ans: 

                            

 

                                         

Here, ECD is an isosceles triangle. Where, EC = ED = 7 cm. 

And CD = 9 cm     
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There are three types of triangle based on the sides. They are:

1) Equilateral triangle 

2) Isosceles triangle 

3) Scalene triangle 

 

 

A triangle is a closed figure with three sides. 

 

 

Ch

               1) It has three sides. 

               2) It has three corners / vertices. 

               3) It has three angles. 
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Here, ABC is a scalene triangle. Where, AB = 8 cm, AC = 3cm and  

BC = 5 cm.   
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